Yamaha Grizzly 600 Winch Mount

Winch Mount PART # 100580

Kit Components:

Oty Part Description

1o, Winch Mount

2 M8x1.25x25mm HH Bolt
4o, 5/16” Lock Washer

2, M8x1.25x20mm Button HD Cap Screw
4o, 3/8” USS Flat Washer

INSTALLATION INSTRUCTIONS:

1. Remove the (4) bolts “A” and remove the skid pan
“Figure 1”.

2. If you have a 1998 model...Remove the bottom two
fasteners that attach to the radiator. This will allow
movement of the radiator and allow you to slip the
mount into position.

3. Place the mounting plate into position and bolt back
two long tabs to your ATV using the supplied hex
head hardware. There may be a space between the
mounting plate and the tubes. Use the supplied spacer
washers if needed. Do not tighten at this time
“Figure 2”

4. If you have the 1998 model, you can now replace the
two fasteners that where removed in Step 2.

5. Assemble your winch and fairlead to the mounting
plate with the hardware that was supplied with your
winch kit. (Note: If you are installing a Warn 3.0 you
may need to rotate the motor leads. Please see motor
rotation Instructions on the back of these instructions)

6. Place the Skid pan back into position. The skid pan
should fit behind the front two tabs on the mounting
plate. Re-assemble the (4) bolts that were removed in
Stepl and replace the top (2) with the supplied Cap
screws and lock washers.

7. At this time you can tighten all hardware.

8. Using the instructions provided with your winch, wire
accordingly.

“Figure 1”

Spacer

“Figure 2”

“A,’




WINCH MOTOR ROTATION
INSTRUCTIONS (3.0ci WINCH ONLY)

1. Tape the motor end cap to the motor
housing as seen in Figure 1. Caution:
The motor end cap must NOT be
removed from the motor housing,
damage may occur to the winch motor.

2. Using a 3/8” box end wrench, disengage
the two motor end bolts from the winch
Drum Support. It is not necessary to
remove the two motor end bolts from the
motor housing.

3. Using a 3/16” allen wrench, remove the
three screws that hold the winch Motor
Collar onto the Drum Support.

Figure 1

Figure 2 Figure 3

4. Lift motor assembly off Drum Support.
Rotate the gasket and Motor Coupler 90
degrees, see Figure 2 and Figure 3.

5. Reattach the winch collar and motor
assembly back onto the winch Drum
Support. The motor should now be
rotated 90 degrees. Tighten all fasteners
to 5 ft Ibs at this time.

Figure 4
WARN® | NDUSTRI ES 65094 REV AD

© 2005 Copyright Warn Industries, Inc. All rights reserved.





